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[NaHo:
N(N,,) =6*10%’

PewleHue:

V=n-Vm
V(N,) = 10kmonb* 22.4m%/kmonb=
224w3

OtBeT: m (N,)= 280kr
M(N,,) =224m°
n(N,) = 10 kmonb



[1aHo:
n(O,) = 3 KMonb

Z 3 < I
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PeLwleHue:
V =n-Vm

V(O,) = 3kmonb* 22.4M°/kMOIb=
67.2m°

m=n-M
M(O,)=48 kr / kmonb

m(0,) = 3xkmons - 48ke / kmons = 144xke
N =n-Na

N(O,) = 3xmonv-6-10°° :

KMOJlb

Otget: n(O,) = 3 kKMOnb
m(O,) = 144 kr

V(O,) = 18*102°

—18-10%°




NaHo:
V(CO,) = 44 8m>

Hantu:

n(CO,) - ?
m(CQO,) - ?
N(CO,) -7

PewweHue:

%
n=—
Vm
3
n(CO,) = 443.8]14 = 2KMOJb
22.4M° [ kmonw
m=n-M

M(CQO,) = 44 kr/kmonb

m(CO,) = 2kmons - 44xke [ kmonb = 88ke

N =n-Na

N(CO,) = 2xmonv-6-107° !

KMOJlb
OtBeT: n(CO,) = 2 kMOJb

N(CO,) = 12*10%°
m(CO,) = 88 kr

=12-10%




NaHo:
V(O,) = 11.2n

Hautu:

m(0,) - ?
N(O,) - 2

PewweHue:

n=—
Vm

11,27
n(0,)

N 22,471/ monw
m=n-M
M(O,) = 32r/monb

m(0,) =0,5mo01b-322/ mons =162
N =n-Na
N(O,) =0,5m016-6-10%1/ moav =3-107
OtBeT: n(CO,) = 0,5 Monb
N(CO,) = 3*10%°
m(CO,)=16T

= 0,5mo1b



NaHo:
m(Cl,) = 106.5mr

Hantu:

n(CO,) - ?
N(CO,) -7
V(CO,) -7

PewleHue:

n=
M

M(CL,) = 71r/monb

106.5m2
T1me / mvMmons

N =n-Na
N(CL) =1.5mmonw-6-10*1/ mmono =9-10%
V =n-Vm

V(CL,)=1.5mmons-22,4mn/ mmons = 33,6 mn
OtBeT: n(CO,) = 1.5 MMOIb

N(CO,) = 9*10%°
V(CO,) = 33.6 mn

=1.5Mmmonn

n(Cl,)=



OUEHUTE CBOKO OEATEJNIbHOCTb
HA NECTHUUE 3HAHUWU

Bcé nmonumaro,
BCE MOJIYYHUTCH

IloHumMar, HO HYKHO
enré mopadorarb

I1;10X0 moHMMAaro
HOBBIM MaTepuaJl




